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ta) Find and draw the Thevenin and Norton equivalent circuits as seen from terminais A and B for the

circuit below, (10 pts)
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Ib) You are given a mysterious two terminal circuit but you have no idea what’s inside it! Cleverly, you
decide to measure the 1-V characteristics by applying a voltage Vy across the terminals and measuring the
resulting current [y, that passes through the circuit as shown in the graph.

From the data given, find and draw the Thevenin and Norton equivalent representations of this mysterious
circuit. (8 pts)
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2) Is the Wheatstone bridge shown below balanced or unbalanced? Find the power delivered to Ry.
Hint: You may use the fact that Ry is much greater than the other resistors to simplify the analysis.
(10 pts)
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3) For this circuit, the switch has been open for a long time. Then the switch closes at t = 0.
Assume K = 2. (19 pts)
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a) Can we determine V{0+) or do we need more information? Explain. (2 pts)
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b) Assuming V{(0-) =0V, find Vi), (8 pts)
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4) For this circuit, the switch has been open for a long time. Then the switch closes at t=0.

Assume V(0-) = 0V and i (0-) = 0A. (12 pts)
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a) Write the differential equation for V(t) in the form.
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Define o and oy in terms of R, L, and C. {6 pts)
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4) Continued.

b)

d)
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[s the response V{(t), underdamped, critically damped, or overdamped? (1 pts)
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What is the particular solution of V(1)7 (2 pts)
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What is the complementary solution of V(1)? Hint: Find dV/dt to help solve for mitial conditions.
(3 pts)
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